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Problem Setting & Challenges Our Method The Circult Transformer
Implementing Boolean functions with logic circuits Generate circuits step-by-step with equivalence preserved * The Boolean function is encoded by the Transformer encoder
(A fundamental problem in digital design!)  Construct from outputs to inputs, start from a wildcard node U » A masking layer is added before the softmax layer of the
* In each step, replace a wildcard node U with a new gate / input Transformer decoder
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How to find valid choices in each step Experiments
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Install: pip install circuit-transformer
U = Unknown

& Red = Conflict with f

Valid choices:
c4,ed, f4
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